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	1
	According to the multiplier model, the best way to reduce inflation is to
	
	

	A)
	increase aggregate demand by cutting government spending or raising taxes.
	
	

	B)
	increase aggregate demand by raising government spending or cutting taxes.
	
	

	C)
	decrease aggregate demand by cutting government spending or raising taxes
	+
	

	D)
	decrease aggregate demand by cutting government spending or raising taxes
	
	

	E)
	all alternatives are possible
	
	

	2
	If the economy goes into a recession, automatic stabilizers will do all of the following except
	
	

	A)
	increase income tax revenues
	+
	

	B)
	increase the budget deficit.
	
	

	C)
	increase unemployment insurance
	
	

	D)
	increase welfare payments.
	
	

	E)
	decrease income tax revenues
	
	

	3
	Money can be many things, but it is not
	
	

	A)
	a financial liability.
	
	

	B)
	a financial asset.
	
	

	C)
	liquid.
	
	

	D)
	illiquid.
	+
	

	E)
	a mean of transaction
	
	

	4
	A reserve ratio of 0.10 means that a bank loans out __________ percent of its_______
	
	

	A)
	10; deposit liabilities
	
	

	B)
	10; excess reserves
	
	

	C)
	90; deposit liabilities
	+
	

	D)
	90; excess reserves
	
	

	E)
	None of them
	
	

	5
	Monetary policy affects
	
	

	A)
	inflation only.
	
	

	B)
	output only.
	
	

	C)
	both inflation and output.
	+
	

	D)
	neither inflation nor output.
	
	

	E)
	Inflation but not output
	
	

	6
	If the Bank of Canada wanted to stimulate aggregate demand, it could
	
	

	A)
	raise the target range for the overnight financing rate, thereby reducing interest rates throughout the economy.
	
	

	B)
	raise the target range for the overnight financing rate, thereby increasing interest rates throughout the economy.
	
	

	C)
	lower the target range for the overnight financing rate, thereby reducing interest rates throughout the economy.
	+
	

	D)
	lower the target range for the overnight financing rate, thereby increasing interest rates throughout the economy.
	
	

	E)
	none of them
	
	

	7
	Which of the following is an example of an expansionary monetary policy?
	
	

	A)
	Raising the bank rate.
	
	

	B)
	Raising the overnight financing rate.
	
	

	C)
	Selling bonds.
	
	

	D)
	Buying bonds.
	+
	

	E)
	increasing interest rate
	
	

	8
	Bank of Canada sales of government bonds ________ bank reserves, and _______ the money supply.
	
	

	A)
	increase; increase
	
	

	B)
	decrease; decrease
	
	

	C)
	decrease; increase
	
	

	D)
	increase; decrease
	+
	

	E)
	none of them
	
	

	9
	In the AS/AD model, an expansionary monetary policy
	
	

	A)
	increases aggregate demand by reducing interest rates.
	+
	

	B)
	increases aggregate demand by raising interest rates.
	
	

	C)
	reduces aggregate demand by reducing interest rates.
	
	

	D)
	reduces aggregate demand by raising interest rates.
	
	

	E)
	reduces aggregate supply and aggregate demand
	
	

	10
	Which of the following gives the correct relationship between nominal and real interest rates?
	
	

	A)
	real interest rate = nominal interest rate + expected inflation rate
	
	

	B)
	nominal interest rate = real interest rate + expected inflation rate
	+
	

	C)
	expected inflation rate = nominal interest rate + real interest rate
	
	

	D)
	nominal interest rate = real interest rate — expected inflation rate
	
	

	E)
	none of them
	
	

	11
	What can rise with a decrease in the money supply?
	
	

	A)
	CPI
	
	

	B)
	GDP
	
	

	C)
	Unemployment
	+
	

	D)
	Inflation
	
	

	E)
	Real GDP
	
	

	12
	If the Fed buys bonds, then what is being used?
	
	

	A)
	expansionary monetary policy
	
	

	B)
	expansionary fiscal policy
	+
	

	C)
	contractionary monetary policy
	
	

	D)
	contractionary fiscal policy
	
	

	E)
	none of them
	
	

	13
	The government spending multiplier is as higher as:
	
	

	A)
	Higher is the government spending
	
	

	B)
	Higher is the MPC
	+
	

	C)
	Lower is the MPC
	
	

	D)
	 Lower is the tax revenue 
	
	

	E)
	None of them
	
	

	14
	 Point out which of the following is not an instrument of fiscal policy:
	
	

	A)
	An increase in the interest rate
	+
	

	B)
	A cut in unemployment compensation
	
	

	C)
	An increase in tobacco taxes
	
	

	D)
	A cut in the marginal rates of IRPF 
	
	

	E)
	All of them
	
	

	15
	The function of investment spending shifts to the left if:
	
	

	A)
	The interest rate rises
	
	

	B)
	The interest rate falls
	
	

	C)
	Business expectations improve
	
	

	D)
	Business expectations get worse 
	+
	

	E)
	All of them
	
	

	16
	Point out the monetary policy instrument:
	
	

	A)
	 a. An increase in direct taxes
	
	

	B)
	 b. Open-market operations
	+
	

	C)
	 c. Freezing pensions
	
	

	D)
	 d. A cut in government purchase of goods and services 
	
	

	E)
	10. Point out the monetary policy instrument:
	
	

	17
	 To increase the money supply, the bank central could:
	
	

	A)
	Cut taxes
	
	

	B)
	Purchase bonds in the open-market
	+
	

	C)
	Encourage people to held more cash (currency in circulation)
	
	

	D)
	Increase the government spending
	
	

	E)
	A and D
	
	

	18
	A decrease in the MPC may cause:
	
	

	A)
	A fall in the equilibrium income
	+
	

	B)
	An increase in the equilibrium income.
	
	

	C)
	It does not affect the equilibrium income
	
	

	D)
	The government spending multiplier rise 
	
	

	E)
	B and C
	
	

	19
	As higher is the MPS
	
	

	A)
	Lower is the multiplier.
	+
	

	B)
	Higher is the investment spending
	
	

	C)
	Higher is the equilibrium income.
	
	

	D)
	All the answers are right 
	
	

	E)
	None of them
	
	

	20
	A cut in direct taxes on households’ income
	
	

	A)
	Has no effect
	
	

	B)
	Shifts the aggregate demand curve to the left
	
	

	C)
	Shifts the aggregate demand curve to the right
	+
	

	D)
	Moves the economy along the aggregate demand curve 
	
	

	E)
	Shifts the aggregate supply left
	
	

	21
	A period during which real GDP grows and unemployment fall is called;
	
	

	A)
	A stagflation
	
	

	B)
	a Phillips curve.
	
	

	C)
	the business cycle.
	
	

	D)
	an expansion.
	+
	

	E)
	a recession
	
	

	22
	A bank has excess reserves to lend but is unable to find anyone to borrow the money. This 

will __________ the size of the money multiplier.
	
	

	A)
	reduce
	+
	

	B)
	increase
	
	

	C)
	have no effect on
	
	

	D)
	double 
	
	

	E)
	triple
	
	

	23
	Which of the following actions is an example of expansionary fiscal policy?
	
	

	A)
	a decrease in welfare payments
	
	

	B)
	a purchase of government securities in the open market
	
	

	C)
	a decrease in the Bank rate
	
	

	D)
	a decrease in the corporate profits tax rates 
	+
	

	E)
	None of them
	
	

	24
	As the economy nears full capacity, the short-run aggregate supply curve
	
	

	A)
	becomes flatter.
	
	

	B)
	becomes steeper.
	+
	

	C)
	shifts to the right.
	
	

	D)
	shifts to the left. 
	
	

	E)
	D and A
	
	

	25
	If the expected return on bonds increases, all else equal, the demand for bonds increases, the price of bonds ________, and the interest rate ________.
	
	

	A)
	increases; decreases
	+
	

	B)
	increases; increases
	
	

	C)
	decreases; decreases
	
	

	D)
	decreases; increases
	
	

	E)
	none of these answers.
	
	

	26
	The opportunity cost of holding money is
	
	

	A)
	the level of income.
	
	

	B)
	the price level.
	
	

	C)
	the interest rate.
	+
	

	D)
	the discount rate.
	
	

	E)
	none of these answers.
	
	

	27
	An increase in the interest rate
	
	

	A)
	increases the demand for money.
	
	

	B)
	increases the quantity of money demanded.
	
	

	C)
	decreases the demand for money.
	
	

	D)
	decreases the quantity of money demanded.
	+
	

	E)
	none of these answers.
	
	

	28
	A lower level of income causes the demand for money to ________ and the interest rate to

________, everything else held constant.
	
	

	A)
	decrease; decrease
	+
	

	B)
	decrease; increase
	
	

	C)
	increase; decrease
	
	

	D)
	increase; increase
	
	

	E)
	none of these answers.
	
	

	29
	The government agency that oversees the banking system and is responsible for the conduct of

monetary policy in the United States is
	
	

	A)
	the Federal Reserve System.
	+
	

	B)
	the United States Treasury.
	
	

	C)
	the U.S. Gold Commission.
	
	

	D)
	the House of Representatives.
	
	

	E)
	none of these answers.
	
	

	30
	Both ________ and ________ are Federal Reserve assets.
	
	

	A)
	currency in circulation; reserves
	
	

	B)
	currency in circulation; government securities
	
	

	C)
	government securities; discount loans
	+
	

	D)
	government securities; reserves
	
	

	E)
	none of these answers.
	
	

	31
	The monetary liabilities of the Federal Reserve include
	
	

	A)
	government securities and discount loans.
	
	

	B)
	currency in circulation and reserves.
	+


	

	C)
	government securities and reserves.
	
	

	D)
	currency in circulation and discount loans.
	
	

	E)
	All of these answers
	
	

	32
	The monetary base consists of
	
	

	A)
	currency in circulation and Federal Reserve notes.
	
	

	B)
	currency in circulation and the U.S. Treasuryʹs monetary liabilities.
	
	

	C)
	currency in circulation and reserves.
	+
	

	D)
	reserves and Federal Reserve Notes.
	
	

	E)
	None of these answers.
	
	

	33
	The interest rate the Fed charges banks borrowing from the Fed is the
	
	

	A)
	federal funds rate.
	
	

	B)
	Treasury bill rate.
	
	

	C)
	discount rate.
	+
	

	D)
	prime rate.
	
	

	E)
	None of these answers.
	
	

	34
	Purchases and sales of government securities by the Federal Reserve are called
	
	

	A)
	discount loans.
	
	

	B)
	federal fund transfers.
	
	

	C)
	open market operations.
	+
	

	D)
	swap transactions.
	
	

	E)
	None of these answers.
	
	

	35
	When the Federal Reserve purchases a government bond from a bank, reserves in the banking

system ________ and the monetary base ________, everything else held constant.
	
	

	A)
	increase; increases
	+
	

	B)
	increase; decreases
	
	

	C)
	decrease; increases
	
	

	D)
	decrease; decreases
	
	

	E)
	None of these answers.
	
	

	36
	When a bank sells a government bond to the Federal Reserve, reserves in the banking system

________ and the monetary base ________, everything else held constant.
	
	

	A)
	increase; increases
	+
	

	B)
	increase; decreases
	
	

	C)
	decrease; increases
	
	

	D)
	decrease; decreases
	
	

	E)
	None of these answers.
	
	

	37
	The effect of an open market purchase on reserves differs depending on how the seller of the

bonds keeps the proceeds. If the proceeds are kept in currency, the open market purchase

________ reserves; if the proceeds are kept as deposits, the open market purchase ________

reserves.
	
	

	A)
	has no effect on; has no effect on
	
	

	B)
	has no effect on; increases
	+
	

	C)
	increases; has no effect on
	
	

	D)
	decreases; increases
	
	

	E)
	None of these answers.
	
	

	38
	If the Fed decides to reduce bank reserves, it can
	
	

	A)
	purchase government bonds.
	
	

	B)
	extend discount loans to banks.
	
	

	C)
	sell government bonds.
	+
	

	D)
	print more currency.
	
	

	E)
	None of these answers.

	
	

	39
	When the Fed supplies the banking system with an extra dollar of reserves, deposits increase by more than one dollar-a process called
	
	

	A)
	extra deposit creation.
	
	

	B)
	multiple deposit creation.
	+
	

	C)
	expansionary deposit creation.
	
	

	D)
	stimulative deposit creation.
	
	

	E)
	None of these answers.
	
	

	40
	When the Fed supplies the banking system with an extra dollar of reserves, deposits ________ by ________ than one dollara process called multiple deposit creation.
	
	

	A)
	increase; less
	
	

	B)
	increase; more
	+
	

	C)
	decrease; less
	
	

	D)
	decrease; more
	
	

	E)
	None of these answers.
	
	

	41
	If the required reserve ratio is equal to 10 percent, a single bank can increase its loans up to a maximum amount equal to
	
	

	A)
	its excess reserves.
	+
	

	B)
	10 times its excess reserves.
	
	

	C)
	10 percent of its excess reserves.
	
	

	D)
	its total reserves.
	
	

	E)
	None of these answers.
	
	

	42
	In the simple deposit expansion model, if the Fed purchases $100 worth of bonds from a bank that previously had no excess reserves, the bank can now increase its loans by
	
	

	A)
	$10.00 
	
	

	B)
	$100.00 
	+
	

	C)
	$100 times the reciprocal of the required reserve ratio.
	
	

	D)
	$100 times the required reserve ratio.
	
	

	E)
	None of these answers.
	
	

	43
	Everything else held constant, an increase in currency holdings will cause
	
	

	A)
	the money supply to rise.
	
	

	B)
	the money supply to remain constant.
	
	

	C)
	the money supply to fall.
	+
	

	D)
	checkable deposits to rise.
	
	

	E)
	None of these answers.
	
	

	44
	Everything else held constant, a decrease in holdings of excess reserves will mean
	
	

	A)
	a decrease in the money supply.
	
	

	B)
	an increase in the money supply.
	+
	

	C)
	a decrease in checkable deposits.
	
	

	D)
	an increase in discount loans.
	
	

	E)
	none of these answers.
	
	

	45
	The formula linking the money supply to the monetary base is
	
	

	A)
	M = m/MB.
	
	

	B)
	M = m × MB.
	+
	

	C)
	m = M × MB.
	
	

	D)
	MB = M × m.
	
	

	E)
	M = m + MB.
	
	

	46
	If the required reserve ratio is 10 percent, currency in circulation is $400 billion, checkable

deposits are $800 billion, and excess reserves total $0.8 billion, then the money supply is

________ billion.
	
	

	A)
	$8,000 
	
	

	B)
	$1,200 
	+
	

	C)
	$1,200.80 
	
	

	D)
	$8,400 
	
	

	E)
	none of these answers.
	
	

	47
	The Fed uses three policy tools to manipulate the money supply: ________, which affect reserves

and the monetary base; changes in ________, which affect the monetary base; and changes in

________, which affect the money multiplier.
	
	

	A)
	open market operations; borrowed reserves; margin requirements
	
	

	B)
	open market operations; borrowed reserves; reserve requirements
	+
	

	C)
	borrowed reserves; open market operations; margin requirements
	
	

	D)
	borrowed reserves; open market operations; reserve requirements
	
	

	E)
	none of these answers.
	
	

	48
	The interest rate charged on overnight loans of reserves between banks is the
	
	

	A)
	prime rate.
	
	

	B)
	discount rate.
	
	

	C)
	federal funds rate.
	+
	

	D)
	Treasury bill rate.
	
	

	E)
	none of these answers.
	
	

	49
	Suppose on any given day the prevailing equilibrium federal funds rate is above the Federal

Reserveʹs federal funds target rate. If the Federal Reserve wishes for the federal funds rate to be

at their target level, then the appropriate action for the Federal Reserve to take is a open market ________, everything else held constant.
	
	

	A)
	defensive; sale
	
	

	B)
	defensive; purchase
	
	

	C)
	dynamic; sale
	
	

	D)
	dynamic; purchase
	+
	

	E)
	none of these answers.
	
	

	50
	In the market for reserves, if the federal funds rate is above the interest rate paid on excess

reserves, an open market sale ________ the supply of reserves causing the federal funds rate to

________, everything else held constant.
	
	

	A)
	decreases; decrease
	
	

	B)
	increases; decrease
	
	

	C)
	increases; increase
	
	

	D)
	decreases; increase
	+
	

	E)
	none of these answers.
	
	

	51
	  An example of an automatic stabilizer is:
	
	

	A)
	the President and Congress agree to new legislation that will cut taxes during a recession.
	
	

	B)
	the drop in income taxes that occurs during recessions from the general drop in incomes.
	+
	

	C)
	the President and Congress agree to new legislation that will increase government spending during a recession.
	
	

	D)
	All of the above.
	
	

	E)
	None of the above.
	
	

	52
	Which of these is a side effect of deflation?
	
	

	A)
	Decreasing unemployment
	
	

	B)
	Mitigating depression
	
	

	C)
	Economic Depression
	+
	

	D)
	Increase in demand
	
	

	E)
	Increasing Employment 
	
	

	53
	Consumer surplus measures
	
	

	A)
	the extra amount that a consumer must pay to obtain a marginal unit of a good or service.
	
	

	B)
	the excess demand that consumers have when a price ceiling holds prices below their equilibrium
	
	

	C)
	the benefit that consumers receive from a good or service beyond what they pay
	+
	

	D)
	gain or loss to consumers from price fixing.
	
	

	E)
	None of them
	
	

	54
	When government intervenes in a competitive market by imposing an effective price 

ceiling,we would expect the quantity supplied to __________ and the quantity demanded to
	
	

	A)
	Fall;rise
	+
	

	B)
	Fall;fall
	
	

	C)
	Rise;rise
	
	

	D)
	Rise;fall
	
	

	E)
	Will be no effect
	
	

	55
	Producer surplus is measured as the
	
	

	A)
	area under the demand curve above market price.
	
	

	B)
	entire area under the supply curve.
	
	

	C)
	area under the demand curve above the supply curve.
	
	

	D)
	area above the supply curve up to the market price.
	+
	

	E)
	None of them
	
	

	56
	In an unregulated, competitive market consumer surplus exists because some
	
	

	A)
	sellers are willing to take a lower price than the equilibrium price.
	
	

	B)
	consumers are willing to pay more than the equilibrium price
	+
	

	C)
	sellers will only sell at prices above equilibrium price (or actual price).
	
	

	D)
	consumers are willing to make purchases only if the price is below the actual price.
	
	

	E)
	All of them
	
	

	57
	In an unregulated, competitive market producer surplus exists because some
	
	

	A)
	consumers are willing to pay more than the equilibrium price.
	
	

	B)
	producers are willing to take more than the equilibrium price.
	
	

	C)
	producers are willing to sell at less than the equilibrium price
	+
	

	D)
	consumers are willing to purchase, but only at prices below equilibrium price.
	
	

	E)
	None of them
	
	

	58
	Deadweight loss refers to
	
	

	A)
	losses in consumer surplus associated with excess government regulations
	
	

	B)
	situations where market prices fail to capture all of the costs and benefits of a policy.
	
	

	C)
	net losses in total surplus.
	+
	

	D)
	losses due to the policies of labor unions.
	
	

	E)
	None of them
	
	

	59
	In 1970s the federal government imposed price controls on natural gas.  Which of the following statements is true?
	
	

	A)
	These price controls caused a chronic excess supply of natural gas.
	
	

	B)
	Consumers gained from the price controls, because consumer surplus was larger than it would have been under free market equilibrium.
	+
	

	C)
	Producers gained from the price controls because producer surplus was larger than it would have been under free market equilibrium.
	
	

	D)
	This episode of price controls was unusual, because it resulted in no deadweight loss to society.
	
	

	E)
	All of them
	
	

	60
	An effective price ceiling causes a loss of
	
	

	A)
	producer surplus for certain and possibly consumer surplus as well.
	+
	

	B)
	consumer surplus only.
	
	

	C)
	producer surplus only.
	
	

	D)
	consumer surplus for certain and possibly producer surplus as well.
	
	

	E)
	neither producer nor consumer surplus.
	
	

	61
	Producer surplus for the whole market can be thought of as
	
	

	A)
	total profit.
	
	

	B)
	variable operating profit plus factor rents.
	
	

	C)
	total profit minus factor rents earned by lower cost firms.
	
	

	D)
	total profit plus factor rents earned by lower cost firms.
	+
	

	E)
	All of them
	
	

	62
	Price ceilings
	
	

	A)
	cause quantity to be higher than in the market equilibrium.
	
	

	B)
	always increase consumer surplus.
	
	

	C)
	may decrease consumer surplus if demand is sufficiently elastic.
	
	

	D)
	may decrease consumer surplus if demand is sufficiently inelastic.
	+
	

	E)
	All of them
	
	

	63
	Consider the following statements when answering this question

I. When a competitive industryʹs supply curve is perfectly elastic, then the sole beneficiaries

of a reduction in input prices are consumers.

II. Even in competitive markets firms have no incentives to control costs, as they can always

pass on cost increases to consumers.
	
	

	A)
	I and II are true.
	
	

	B)
	I is true, and II is false.
	+
	

	C)
	I is false, and II is true.
	
	

	D)
	I and II are false.
	
	

	E)
	It is not possible to say
	
	

	64
	Consider the following statements when answering this question

I. Employers are always hurt by minimum wage laws.

II. Workers always benefit from minimum wage laws.


	
	

	A)
	I and II are true.
	
	

	B)
	I is true, and II is false.
	+
	

	C)
	I is false, and II is true.
	
	

	D)
	I and II are false.
	
	

	E)
	It is not possible to say
	
	

	65
	The consumerʹs gain from the imposition of a price ceiling is higher when
	
	

	A)
	the own price elasticity of market demand is high and the price elasticity of market

supply is high.
	
	

	B)
	the own price elasticity of market demand is high and the price elasticity of market

supply is low.
	
	

	C)
	the own price elasticity of market demand is low and the price elasticity of market

supply is high.
	
	

	D)
	the own price elasticity of market demand is low and the price elasticity of market

supply is low.
	+
	

	E)
	None of them
	
	

	66
	Under a binding price ceiling, what does the change in consumer surplus represent?
	
	

	A)
	The gain in surplus for those buyers who can still purchase the product at the lower

price
	
	

	B)
	The loss in surplus for those buyers who previously purchased some units of the good at

the higher price, but these units are no longer produced at the lower price.
	
	

	C)
	The loss in surplus for those buyers who would like the purchase the excess demand

created by the price ceiling policy.
	
	

	D)
	Both A and B are correct.
	+
	

	E)
	Both A and C are correct.
	
	

	67
	Governments may successfully intervene in competitive markets in order to achieve economic

efficiency
	
	

	A)
	at no time; competitive markets are always efficient without government intervention.
	
	

	B)
	to increase the incidence of positive externalities.
	
	

	C)
	in cases of positive externalities only.
	
	

	D)
	in cases of negative externalities only.
	
	

	E)
	in cases of both positive and negative externalities.
	+
	

	68
	Government intervention can increase total welfare when
	
	

	A)
	there are costs or benefits that are external to the market.
	
	

	B)
	consumers do not have perfect information about product quality.
	
	

	C)
	a high price makes the product unaffordable for most consumers.
	
	

	D)
	all of the above
	
	

	E)
	A and B only
	+
	

	69
	Which of the following policies could lead to a deadweight loss?
	
	

	A)
	price ceilings.
	
	

	B)
	price floors.
	
	

	C)
	policies prohibiting human cloning.
	
	

	D)
	all of the above
	+
	

	E)
	A and B only
	
	

	70
	A situation in which the unregulated competitive market outcome is inefficient because prices fail to provide proper signals to buyers and sellers is known as:
	
	

	A)
	an imperfectly competitive market.
	
	

	B)
	Market failure
	+
	

	C)
	Deadweight loss
	
	

	D)
	Disequilibrium 
	
	

	E)
	All of them
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	71
	Refer to Figure above At price 0E and quantity Q*, consumer surplus is the area
	
	

	A)
	0FCQ*.
	
	

	B)
	AFC.
	
	

	C)
	EFC.
	+
	

	D)
	AEC.
	
	

	E)
	none of the above
	
	

	72
	Refer to above At price 0E and quantity Q*, producer surplus is the area
	
	

	A)
	0ACQ*.
	
	

	B)
	0ECQ*.
	
	

	C)
	0FCQ*.
	
	

	D)
	EFC.
	
	

	E)
	none of the above
	+
	

	73
	Refer to above. At price 0E and quantity Q*, the deadweight loss is
	
	

	A)
	0ACQ*.
	
	

	B)
	0ECQ*.
	
	

	C)
	0FCQ*.
	
	

	D)
	EFC.
	
	

	E)
	none of the above
	+
	

	74
	Refer to above At price 0H and quantity Q1, consumer surplus is the area
	
	

	A)
	EDGF.
	
	

	B)
	0FGQ1.
	
	

	C)
	HFGB.
	+
	

	D)
	EFC.
	
	

	E)
	none of the above
	
	

	75
	Refer to above. At price 0H and quantity Q1, producer surplus is the area
	
	

	A)
	0ABQ1.
	
	

	B)
	0EDQ1.
	
	

	C)
	AHB.
	+
	

	D)
	0FGQ1.
	
	

	E)
	none of the above
	
	

	76
	Refer to above. At price 0H and quantity Q1, the deadweight loss is
	
	

	A)
	DGC.
	
	

	B)
	BDC.
	
	

	C)
	BGC.
	+
	

	D)
	0FGQ1.
	
	

	E)
	none of the above
	
	

	77
	For national security reasons a government decides that all of its base metal industry should not be located in the same geographical region, as it presently is. The government decides to allocate production quotas to firms in different parts of the country, but does not restrict in any way the transactions between consumers and base metal producers. This scheme is
	
	

	A)
	efficient as consumers still buy from whoever they like.
	
	

	B)
	efficient as those consumers who value base metals the most can purchase them.
	
	

	C)
	likely to be inefficient as some of the industryʹs output is not produced by the firms with

the lowest cost.
	+
	

	D)
	likely to be inefficient as the scheme will require subsidies to work.
	
	

	E)
	efficient as learning by doing effects will be strongest in the firms set up in new

geographical regions.
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	78
	Suppose the market in Figure above is currently in equilibrium. If the government establishes a price floor of $50, how many widgets will be sold?
	
	

	A)
	20
	+
	

	B)
	30
	
	

	C)
	40
	
	

	D)
	50
	
	

	E)
	60
	
	

	79
	Suppose the market in Figure above is currently in equilibrium. If the government establishes a price floor of $40, consumer surplus will
	
	

	A)
	fall by $50.
	
	

	B)
	fall by $350.
	+
	

	C)
	remain the same.
	
	

	D)
	rise by $50.
	
	

	E)
	rise by $350.
	
	

	80
	Refer to Figure above If the government establishes a price floor of $40 and government

purchases the surplus over quantity demanded, producer surplus will
	
	

	A)
	fall by $275.
	
	

	B)
	fall by $500.
	
	

	C)
	remain the same.
	
	

	D)
	rise by $275.
	
	

	E)
	rise by $500.
	+
	

	81
	Refer to Figure above If the government establishes a price floor of $40 and government

purchases the surplus over quantity demanded, the resulting deadweight loss will be
	
	

	A)
	$15.
	
	

	B)
	10 widgets.
	
	

	C)
	$1,050.
	+
	

	D)
	$1,200.
	
	

	E)
	$2,400
	
	

	82
	Refer to Figure above If the government establishes a price floor of $40 and purchases the

surplus, total consumer and producer surplus will be
	
	

	A)
	$15.
	
	

	B)
	30 widgets.
	
	

	C)
	$1,050.
	
	

	D)
	$1,200.
	
	

	E)
	$1,350
	+
	

	83
	Which of the following is NOT true about price floors?
	
	

	A)
	Consumer surplus is always lower than it would be in the competitive equilibrium.
	
	

	B)
	Producer surplus could be lower, higher, or the same as it would be in competitive

equilibrium.
	
	

	C)
	Producer surplus could be negative as the result of a price floor.
	
	

	D)
	Producers will often respond to a price floor by cutting production to the point at which

price equals marginal cost.
	+
	

	E)
	The total producer surplus depends on how producers respond to the price floor in

determining their output level.
	
	

	84
	Eliminating price supports for all US agricultural producers will hurt the farmers who

cultivate products that have
	
	

	A)
	a high own price elasticity of demand and a high price elasticity of market supply.
	
	

	B)
	a high own price elasticity of demand and a low price elasticity of market supply.
	
	

	C)
	a low own price elasticity of demand and a high price elasticity of market supply.
	
	

	D)
	a low own price elasticity of demand and a low price elasticity of market supply.
	+
	

	E)
	Impossible to answer
	
	

	
	
	
	

	85
	One way to remove the excess labor supply problem from a minimum wage policy is to have the government hire all unemployed workers at the minimum wage. What is the key

drawback of this version of a minimum wage policy?
	
	

	A)
	The deadweight loss may increase substantially.
	
	

	B)
	The cost to the government may be very large.
	
	

	C)
	Consumer surplus losses increase further.
	
	

	D)
	A and B are correct.
	+
	

	E)
	B and C are correct..
	
	

	86
	A minimum wage policy induces an:
	
	

	A)
	excess demand for labor.
	
	

	B)
	excess supply of labor.
	+
	

	C)
	efficient market outcome.
	
	

	D)
	elastic labor supply response.
	
	

	E)
	None of them
	
	

	87
	What is the difference between a price support and a price floor?
	
	

	A)
	A price support is below equilibrium; a price floor is above it.
	
	

	B)
	A price support is above equilibrium; a price floor is below it.
	
	

	C)
	Government buys the excess supply to maintain a price floor, but not a price support.
	
	

	D)
	Government buys the excess supply to maintain a price support, but not for a price floor.
	+
	

	E)
	There is no difference between the two.
	
	

	88
	A price support may be pictured by
	
	

	A)
	shifting the demand curve to the right by the amount of the government purchase.
	+
	

	B)
	shifting the demand curve to the left by the amount of the government purchase.
	
	

	C)
	shifting the supply curve to the right by the amount of the government purchase.
	
	

	D)
	shifting the supply curve to the left by the amount of the government purchase.
	
	

	E)
	drawing a horizontal line below equilibrium price at the supported price.
	
	

	89
	Which of the following is unlikely to occur as a result of a price support program?
	
	

	A)
	A reduction in consumer surplus
	
	

	B)
	A reduction in producer surplus
	+
	

	C)
	An increase in quantity purchased
	
	

	D)
	An economic cost to government
	
	

	E)
	Improved economic efficiency
	
	

	90
	A small decrease in a production quota will have a large impact on the support price if:
	
	

	A)
	demand is completely elastic.
	
	

	B)
	demand is highly (but not completely) elastic.
	
	

	C)
	demand is inelastic.
	+
	

	D)
	The demand elasticity does not affect the price outcomes of a quota program.
	
	

	E)
	None of them
	
	

	91
	Import tariffs generally result in
	
	

	A)
	higher domestic prices.
	
	

	B)
	less consumer surplus.
	
	

	C)
	more producer surplus for domestic producers.
	
	

	D)
	a deadweight loss.
	
	

	E)
	all of the above
	+
	

	92
	Although rice is a staple of the Japanese diet, the Japanese government has long restricted the importation of rice into Japan. The result of this import quota is:
	
	

	A)
	to decrease the price of rice to the Japanese people.
	
	

	B)
	to decrease the consumer surplus of Japanese rice consumers.
	+
	

	C)
	to decrease the producer surplus of Japanese rice producers.
	
	

	D)
	a welfare gain for the Japanese people.
	
	

	E)
	to increase the consumption of rice by the Japanese people.
	
	

	93
	The U.S. government currently imposes a $0.54 per gallon tariff on all ethanol imported into the country. If this tariff were removed, then:
	
	

	A)
	the domestic ethanol price falls.
	
	

	B)
	foreign producer surplus declines.
	
	

	C)
	domestic consumer surplus increases.
	
	

	D)
	domestic producer surplus decreases.
	
	

	E)
	all of the above
	+
	

	94
	In general, the deadweight loss associated with an import tariff or quota becomes relatively larger when:
	
	

	A)
	supply and demand are inelastic.
	
	

	B)
	supply is elastic and demand is inelastic.
	
	

	C)
	demand is elastic and supply is inelastic.
	
	

	D)
	supply and demand are elastic.
	+
	

	E)
	All of them
	
	

	95
	Where Es is the elasticity of supply and Ed is the own price elasticity of demand, the fractio of the tax passed on to consumers in the form of higher prices is
	
	

	A)
	Es/(Es-Ed).
	+
	

	B)
	Ed/(Es-Ed).
	
	

	C)
	Es/(Ed-Es).
	
	

	D)
	Ed/(Ed-Es).
	
	

	E)
	Ed/Es.
	
	

	96
	The benefit of a subsidy accrues mostly to consumers
	
	

	A)
	in every instance.
	
	

	B)
	 if Ed/Es is large.
	
	

	C)
	if Ed/Es is small.
	+
	

	D)
	if Ed and Es are equal.
	
	

	E)
	in no instance
	
	

	97
	The formula Es/(Es - Ed) is used to calculate the
	
	

	A)
	deadweight loss from price support programs.
	
	

	B)
	 increase in consumer surplus from a price ceiling.
	
	

	C)
	fraction of a specific tax that is passed through to consumers.
	+
	

	D)
	none of the above
	
	

	E)
	All of above
	
	

	98
	Consider a good whose own price elasticity of demand is 0 and price elasticity of supply is 1. The fraction of a specific tax that will be passed through to consumers is __________.
	
	

	A)
	0
	
	

	B)
	0.25
	
	

	C)
	0.5
	
	

	D)
	0.75
	
	

	E)
	1
	+
	

	99
	Consider a good whose own price elasticity of demand is -0.5 and price elasticity of supply is 1.5. The fraction of a specific tax that will be passed through to consumers is__________.
	
	

	A)
	0
	
	

	B)
	0.25
	
	

	C)
	0.5
	
	

	D)
	0.75
	+
	

	E)
	1
	
	

	100
	When the government imposes a specific tax per unit on a product, changes in consumer

surplus are __________ and changes in producer surplus are __________.
	
	

	A)
	negative; positive
	
	

	B)
	positive; positive
	
	

	C)
	negative; negative
	+
	

	D)
	positive; negative
	
	

	E)
	Impossible to say
	
	


